

①

$$\begin{array}{r} 121 \\ 4 \overline{) 487} \\ \underline{4} \\ 8 \\ \underline{8} \\ 7 \\ \underline{4} \\ 3 \end{array}$$

②

$$\begin{array}{r} 147 \\ 6 \overline{) 884} \\ \underline{6} \\ 28 \\ \underline{24} \\ 44 \\ \underline{42} \\ 2 \end{array}$$

③

$$\begin{array}{r} 498 \\ 2 \overline{) 997} \\ \underline{8} \\ 19 \\ \underline{18} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

④

$$\begin{array}{r} 190 \\ 5 \overline{) 953} \\ \underline{5} \\ 45 \\ \underline{45} \\ 3 \\ \underline{0} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 108 \\ 6 \overline{) 653} \\ \underline{6} \\ 5 \\ \underline{0} \\ 53 \\ \underline{48} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 304 \\ 3 \overline{) 913} \\ \underline{9} \\ 1 \\ \underline{0} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 108 \\ 7 \overline{) 762} \\ \underline{7} \\ 6 \\ \underline{0} \\ 62 \\ \underline{56} \\ 6 \end{array}$$

⑧

$$\begin{array}{r} 127 \\ 5 \overline{) 637} \\ \underline{5} \\ 13 \\ \underline{10} \\ 37 \\ \underline{35} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 227 \\ 3 \overline{) 682} \\ \underline{6} \\ 8 \\ \underline{6} \\ 22 \\ \underline{21} \\ 1 \end{array}$$

①

$$\begin{array}{r} 100 \\ 9 \overline{) 902} \\ \underline{9} \\ 0 \\ \underline{0} \\ 20 \\ \underline{18} \\ 20 \\ \underline{18} \\ 2 \end{array}$$

②

$$\begin{array}{r} 138 \\ 4 \overline{) 555} \\ \underline{4} \\ 15 \\ \underline{12} \\ 35 \\ \underline{32} \\ 3 \end{array}$$

③

$$\begin{array}{r} 150 \\ 6 \overline{) 903} \\ \underline{6} \\ 30 \\ \underline{30} \\ 3 \end{array}$$

④

$$\begin{array}{r} 174 \\ 5 \overline{) 873} \\ \underline{5} \\ 37 \\ \underline{35} \\ 23 \\ \underline{20} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 190 \\ 5 \overline{) 952} \\ \underline{5} \\ 45 \\ \underline{45} \\ 2 \\ \underline{0} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 167 \\ 3 \overline{) 503} \\ \underline{3} \\ 20 \\ \underline{18} \\ 23 \\ \underline{21} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 100 \\ 9 \overline{) 903} \\ \underline{9} \\ 0 \\ \underline{0} \\ 30 \\ \underline{27} \\ 30 \\ \underline{27} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 109 \\ 8 \overline{) 873} \\ \underline{8} \\ 7 \\ \underline{0} \\ 73 \\ \underline{72} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 124 \\ 8 \overline{) 996} \\ \underline{8} \\ 19 \\ \underline{16} \\ 36 \\ \underline{32} \\ 4 \end{array}$$

①

$$\begin{array}{r} 101 \\ 9 \overline{) 912} \\ \underline{9} \\ 1 \\ \underline{0} \\ 12 \\ \underline{9} \\ 3 \end{array}$$

②

$$\begin{array}{r} 122 \\ 8 \overline{) 977} \\ \underline{8} \\ 17 \\ \underline{16} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

③

$$\begin{array}{r} 165 \\ 4 \overline{) 661} \\ \underline{4} \\ 26 \\ \underline{24} \\ 21 \\ \underline{20} \\ 1 \end{array}$$

④

$$\begin{array}{r} 133 \\ 7 \overline{) 936} \\ \underline{7} \\ 23 \\ \underline{21} \\ 26 \\ \underline{21} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 144 \\ 6 \overline{) 868} \\ \underline{6} \\ 26 \\ \underline{24} \\ 28 \\ \underline{24} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 115 \\ 8 \overline{) 923} \\ \underline{8} \\ 12 \\ \underline{8} \\ 43 \\ \underline{40} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 112 \\ 8 \overline{) 897} \\ \underline{8} \\ 9 \\ \underline{8} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 102 \\ 7 \overline{) 716} \\ \underline{7} \\ 1 \\ \underline{0} \\ 16 \\ \underline{14} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 106 \\ 2 \overline{) 213} \\ \underline{2} \\ 1 \\ \underline{0} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

①

$$\begin{array}{r} 114 \\ 8 \overline{) 919} \\ \underline{8} \\ 11 \\ \underline{8} \\ 39 \\ \underline{32} \\ 7 \end{array}$$

②

$$\begin{array}{r} 119 \\ 6 \overline{) 715} \\ \underline{6} \\ 11 \\ \underline{6} \\ 55 \\ \underline{54} \\ 1 \end{array}$$

③

$$\begin{array}{r} 203 \\ 3 \overline{) 610} \\ \underline{6} \\ 1 \\ \underline{0} \\ 10 \\ \underline{9} \\ 1 \end{array}$$

④

$$\begin{array}{r} 412 \\ 2 \overline{) 825} \\ \underline{8} \\ 2 \\ \underline{2} \\ 5 \\ \underline{4} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 116 \\ 8 \overline{) 933} \\ \underline{8} \\ 13 \\ \underline{8} \\ 53 \\ \underline{48} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 256 \\ 3 \overline{) 769} \\ \underline{6} \\ 16 \\ \underline{15} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 275 \\ 2 \overline{) 551} \\ \underline{4} \\ 15 \\ \underline{14} \\ 11 \\ \underline{10} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 142 \\ 2 \overline{) 285} \\ \underline{2} \\ 8 \\ \underline{8} \\ 5 \\ \underline{4} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 166 \\ 6 \overline{) 997} \\ \underline{6} \\ 39 \\ \underline{36} \\ 37 \\ \underline{36} \\ 1 \end{array}$$

①

$$\begin{array}{r} 106 \\ 9 \overline{) 960} \\ \underline{9} \\ 6 \\ \underline{0} \\ 60 \\ \underline{54} \\ 6 \end{array}$$

②

$$\begin{array}{r} 123 \\ 7 \overline{) 866} \\ \underline{7} \\ 16 \\ \underline{14} \\ 26 \\ \underline{21} \\ 5 \end{array}$$

③

$$\begin{array}{r} 105 \\ 7 \overline{) 736} \\ \underline{7} \\ 3 \\ \underline{0} \\ 36 \\ \underline{35} \\ 1 \end{array}$$

④

$$\begin{array}{r} 457 \\ 2 \overline{) 915} \\ \underline{8} \\ 11 \\ \underline{10} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 128 \\ 5 \overline{) 644} \\ \underline{5} \\ 14 \\ \underline{10} \\ 44 \\ \underline{40} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 118 \\ 6 \overline{) 710} \\ \underline{6} \\ 11 \\ \underline{6} \\ 50 \\ \underline{48} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 181 \\ 4 \overline{) 727} \\ \underline{4} \\ 32 \\ \underline{32} \\ 7 \\ \underline{4} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 101 \\ 9 \overline{) 914} \\ \underline{9} \\ 1 \\ \underline{0} \\ 14 \\ \underline{9} \\ 5 \end{array}$$

⑨

$$\begin{array}{r} 129 \\ 6 \overline{) 777} \\ \underline{6} \\ 17 \\ \underline{12} \\ 57 \\ \underline{54} \\ 3 \end{array}$$

①

$$\begin{array}{r} 113 \\ 5 \overline{) 568} \\ \underline{5} \\ 6 \\ \underline{5} \\ 18 \\ \underline{15} \\ 3 \end{array}$$

②

$$\begin{array}{r} 145 \\ 6 \overline{) 872} \\ \underline{6} \\ 27 \\ \underline{24} \\ 32 \\ \underline{30} \\ 2 \end{array}$$

③

$$\begin{array}{r} 106 \\ 7 \overline{) 748} \\ \underline{7} \\ 4 \\ \underline{0} \\ 48 \\ \underline{42} \\ 6 \end{array}$$

④

$$\begin{array}{r} 101 \\ 8 \overline{) 810} \\ \underline{8} \\ 1 \\ \underline{0} \\ 10 \\ \underline{8} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 137 \\ 7 \overline{) 960} \\ \underline{7} \\ 26 \\ \underline{21} \\ 50 \\ \underline{49} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 125 \\ 3 \overline{) 376} \\ \underline{3} \\ 7 \\ \underline{6} \\ 16 \\ \underline{15} \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 177 \\ 2 \overline{) 355} \\ \underline{2} \\ 15 \\ \underline{14} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 370 \\ 2 \overline{) 741} \\ \underline{6} \\ 14 \\ \underline{14} \\ 1 \\ \underline{0} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 192 \\ 3 \overline{) 578} \\ \underline{3} \\ 27 \\ \underline{27} \\ 8 \\ \underline{6} \\ 2 \end{array}$$

①

$$\begin{array}{r} 150 \\ 5 \overline{) 754} \\ \underline{5} \\ 25 \\ \underline{25} \\ 40 \\ \underline{40} \\ 0 \\ \underline{0} \\ 4 \end{array}$$

②

$$\begin{array}{r} 113 \\ 3 \overline{) 340} \\ \underline{3} \\ 4 \\ \underline{3} \\ 10 \\ \underline{9} \\ 1 \end{array}$$

③

$$\begin{array}{r} 108 \\ 4 \overline{) 435} \\ \underline{4} \\ 3 \\ \underline{0} \\ 35 \\ \underline{32} \\ 3 \end{array}$$

④

$$\begin{array}{r} 144 \\ 6 \overline{) 869} \\ \underline{6} \\ 26 \\ \underline{24} \\ 29 \\ \underline{24} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 160 \\ 6 \overline{) 962} \\ \underline{6} \\ 36 \\ \underline{36} \\ 2 \\ \underline{0} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 147 \\ 5 \overline{) 738} \\ \underline{5} \\ 23 \\ \underline{20} \\ 38 \\ \underline{35} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 131 \\ 5 \overline{) 659} \\ \underline{5} \\ 15 \\ \underline{15} \\ 9 \\ \underline{5} \\ 4 \end{array}$$

⑧

$$\begin{array}{r} 135 \\ 7 \overline{) 951} \\ \underline{7} \\ 25 \\ \underline{21} \\ 41 \\ \underline{35} \\ 6 \end{array}$$

⑨

$$\begin{array}{r} 142 \\ 6 \overline{) 853} \\ \underline{6} \\ 25 \\ \underline{24} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

①

$$\begin{array}{r} 301 \\ 3 \overline{) 905} \\ \underline{9} \\ 0 \\ 0 \\ \underline{5} \\ 3 \\ \underline{3} \\ 2 \end{array}$$

②

$$\begin{array}{r} 160 \\ 5 \overline{) 801} \\ \underline{5} \\ 30 \\ \underline{30} \\ 1 \\ 0 \\ \underline{0} \\ 1 \end{array}$$

③

$$\begin{array}{r} 404 \\ 2 \overline{) 809} \\ \underline{8} \\ 0 \\ 0 \\ \underline{9} \\ 8 \\ \underline{8} \\ 1 \end{array}$$

④

$$\begin{array}{r} 107 \\ 9 \overline{) 967} \\ \underline{9} \\ 6 \\ 0 \\ \underline{6} 7 \\ 6 3 \\ \underline{6} 3 \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 214 \\ 3 \overline{) 644} \\ \underline{6} \\ 4 \\ 3 \\ \underline{1} 4 \\ 1 2 \\ \underline{1} 2 \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 249 \\ 3 \overline{) 748} \\ \underline{6} \\ 14 \\ 12 \\ \underline{2} 8 \\ 2 7 \\ \underline{2} 7 \\ 1 \end{array}$$

⑦

$$\begin{array}{r} 228 \\ 4 \overline{) 913} \\ \underline{8} \\ 11 \\ 8 \\ \underline{3} 3 \\ 3 2 \\ \underline{3} 2 \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 406 \\ 2 \overline{) 813} \\ \underline{8} \\ 1 \\ 0 \\ \underline{1} 3 \\ 1 2 \\ \underline{1} 2 \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 121 \\ 7 \overline{) 850} \\ \underline{7} \\ 15 \\ 14 \\ \underline{1} 0 \\ 7 \\ \underline{7} \\ 3 \end{array}$$

①

$$\begin{array}{r} 153 \\ 6 \overline{) 921} \\ \underline{6} \\ 32 \\ \underline{30} \\ 21 \\ \underline{18} \\ 3 \end{array}$$

②

$$\begin{array}{r} 127 \\ 5 \overline{) 639} \\ \underline{5} \\ 13 \\ \underline{10} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

③

$$\begin{array}{r} 273 \\ 2 \overline{) 547} \\ \underline{4} \\ 14 \\ \underline{14} \\ 7 \\ \underline{6} \\ 1 \end{array}$$

④

$$\begin{array}{r} 108 \\ 7 \overline{) 759} \\ \underline{7} \\ 5 \\ \underline{0} \\ 59 \\ \underline{56} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 135 \\ 6 \overline{) 813} \\ \underline{6} \\ 21 \\ \underline{18} \\ 33 \\ \underline{30} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 130 \\ 6 \overline{) 782} \\ \underline{6} \\ 18 \\ \underline{18} \\ 2 \\ \underline{0} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 471 \\ 2 \overline{) 943} \\ \underline{8} \\ 14 \\ \underline{14} \\ 3 \\ \underline{2} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 117 \\ 4 \overline{) 469} \\ \underline{4} \\ 6 \\ \underline{4} \\ 29 \\ \underline{28} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 104 \\ 9 \overline{) 941} \\ \underline{9} \\ 4 \\ \underline{0} \\ 41 \\ \underline{36} \\ 5 \end{array}$$

